ARRL / Signal Corps random letter & number code practice groups:

OKICQ AEIQU MVHVD JEHDY ZMNZB
24680 13579 APLKM MCNCB NDBGY
CKTOG CJRNO NDHBH PAOKU KDIOE
AXBTR YOUMK JTIOE MDHNH CVQAR

03759 CEMID MNLFG UEYTA NASTF
CWXCK JXEFY YOUMK QYEUR CFGIL
DKAKX EFMEY VOIUM QWZXN CADXA
WQYFZ 49285 12709 MNOPA TTLOR

OMIWG JNABD 97201 KQZAX MAIDP
HSPCQ JBCYD EFXNK LARDO 76321
XGLDT PGZUN LCKQH MQECV 70365
80701 CTILL OCYAA BEXZB OHWIM

RKMOZ THQVI ZLJBI ALCRJ VTNEE
EKJCD HMOUS 84707 DLZIK HELKF
DJHNG TVCPT KDKNG PHVTX 47382
HHHGJ CPTKO FHFUX HIMAD MRFEXE

LDOSJ 20184 NTVMG CPNZI 40367
12310 VNFBH WOHZR JBOAH OBRDK
BAYQT DIEUY IPAQZ GYEVZ PVFKOQ
ONBAV JCUWH FNzQJ ARJZU RBEFP

25894 83746 PGMAE DXAQN KDIEY
JXHGQ LKDOP 10273 11902 MDIDH
98015 WEQFQ DXNZE 06143 09165
MBUDF 17863 98234 CPTOK QZASU



Common words / fragments for high speed review:
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ING ESS WHO HAVE THEIR
AND AVE HIM WITH THERE
ION PER MAY FROM WOULD

ENT BUT OUT WERE THESE
HER NOT OUR THEY SHALL
TER DAY ANT WILL GREAT
COM INE NOW THIS OTHER

ALL ONE YET WHAT ABOUT
CON SUB TWO MORE THOSE
MAN WAS OWN UPON COULD
EST YOU OLD LIKE FIRST

FOR HIS NEW SUCH MIGHT
ATE HER CAN INTO AFTER
ERS SHE ANY TIME TRANS
NCE HAS TED VERY RADIO



J random code practice,

FO=0

fphcb
mgofw
xhkqgv
ayzte
lfnip
vntdw
czdtt
Xrico
bvwym
hjmgd
epfoh
cmgbt
rrecb
osuir
dmtdu
ouxir
gvvda
dwwjw
epyxa
llouv
Jrjir
ggouk

rzlfg
YXXZO
xtuic
alxdl
kfosu
wlire
hgtje
uviqgg
rhpgd
oukdw
hhftz
ieczd
mr fdm
yxksw
iryxm
hsjen
aykfo
Jkshg
lmenn
fqgai
uxrgo
dzczc

doukf
fymrf
mtbpl
nayzv
ipkda
algvx
ntuxb
osjci
Jcmgd
WJUuxs
bdbbk
tvxkf
rpoux
yment
gqgos
tuxbx
sSwyzqg
iepfo
uicbg
pgdho
swldg
bshsh

ksjir
dmrrc
fpwju
suvnt
ykavy
rgqgqgq
ztean
lgvxt
houir
wjmgb
frhcz
nipkf
kdzcz
duiry
hgtho
hksjd
tcmrn
ftbpJ
tohcb
ukfpy
tiecz
ofbal

uxtwy
mtwl]
XUuipo
duipm
ksjdh
thohp
Jjvxtw
uiecz
Jjiruv
yksho
bfnri
osuir
epwli
xkgic
fbanb
hggof
Jjting
rjipg
rzlds
Xancm
drfba
1mgdj

kgtjl
djeay
sjeph
rgosw
osuv
gbtie
wwwlf
bfpfo
daykg
ukfpy
pjptm
alggo
pouvu
0sjng
gofdm
ballm
gieal
bvyks
houip
tfksh
nbien
cmepb

ggoui
zteal

czdrh
1fgdm
uvean
alxbx
pwlkd
hhftz
ticmr
xalme
rgbdz
swlfe
xzohk
94g9agb
rpos
gbtkg
gvvdc
jdhag
tmrgd
Uvuxx
twjth
vksjc

rijgba
xdnbi
pepdm
ealou
cohjm
hmenr
wwlkf
bfnri
1xbxf
pbyks
nephl
pgouv
gthxk
YZVsU
epfoh
gdrfb
oukfi
ofdmt
rhpen
alouv
Xmgou
mgdjc

llmen
ephcb
ggtcm
viaggqg
enswy
poshg
kshsh
rXXZzO
ymrhr
hggof
ayxmg
Wiryz
gggic
vphijk
hfrlv
allme
cbgtm
fkgtm
plean
fgiec
iczen
mennu

pggir
pjpto
rlvph
gbyzt
xcbie
tjenr
ofdmr
hksjb
sjlsu
dohly
ggouv
ymgqgi
bzwlf
shqgic
ghjmg
npgqag
rirxv
ripld
entfk
ZYXXZ
ipmri
icbsh

sjnec
halxb
Jjksje
cmtbp
pfmrl
gbfph
pgiru
vyks]
ksuvp
mrggi
wlds]
eanen
nipkf
bbmrf
douip
byxhk
Juxuk
ZCZCZ
sjgba
qvdgip
cosjl
shgth



N random code practice,

FO =

0 (also G,

sent as

single chars)

lp7sl
ym0 7y
pnosl
mO5fa
h5z07
xp9z2
sl19t5
x3eeu
driec
hviw3
4dprkx
eecdb
t7ecb
aumOn
789zm
gOnkx
slhv?2
z28bc
kfojs
x3ukh
1x38r
1yo6g0

hplvw
49tz0
xj6au
cdddx
cbaum
8rdie
zwbf4
khbg?2
ddbct
eukz?2
xxhpl
aasl9
cdxj8
kzmym
Onkz?2
3kf49
bacba
v20jm
3ewbf
bg268
kx3y6
prédr4

3eukf
Tecdx
4pllh
Jm05v
07cv2
wnslx
9zgdx
gtfol
zeect
8bw3e
t5hbw
t1ln05
trgOn
ymOp9
bg2gk
zgdxp
u2o0zg
yvdprk
audc
bct]b6
aslf8
7s3kz

asj8r
J8t7y
5f8bw
igxp9
g28ry
3ymiw
5fact
nslxj
J6gkx
cviwn
lp7sl
z07cb
Oprédr
zmOnk
zwbzg
n689t
fudot
hplll
vdT7sl
g05fo
baasl
gx3gx

kxjmy
ozwl9
3udrqg
zmQ7s
689t ]
5zgdb
51xjm
baasl
78rkh
g2076
t1l9jo
aumOn
kf8r4
zmiee
x3gdr
Jmigx
51pn6
x738bc
hplfo
15728
9dx3g
3ectz

bslp7
tzumO
kfdp7
3ybas
bacdb
cdbaa
iyohb
tlprk
v2g28
gO05fo
11hvo
071iy6
rg07c
udpno6
igxj8
3gx3e
giewn
dry68
J6gkh
9fas3
dry49
eewln

iyegk
5facd
s19dd
lvw3y
wnosj
cddxp
f8rkz
xxhpl
bau49
Js3ew
38t51
aslvg
tz0no6
g26s3
trgkf
cdbg?2
slhvi
9tjmi
vo]89
07ct]
zw519
gZoze

x3s3g
dddry
bwl3y
6s3uk
2ohvi
nmOpt
28rkf
tl1l9jo
ddxp’/
1IngZ2o
305hb
v2qg07
s19zm
05vig
dprkx
89dx3
eukfu
gxj89
ddbwb5
s3ukh
z2baa
ectze

x3ewb
4p7sl
mgfud
hbg26
gfuZo
rgkzw
as3kz
hotzO0
ecddr
Jjmigx
gkz26
slnkf
iymyo
x5hv?2
xh9%ex
gx3ew
4°7cvo
facvo
view3
bgiec
udrkz
ewbfa

v268r
11hv4
9dx5h
s305f
J8ry4
5f£497
gxj8t
n689d
4pT7y6
Johba
g2g07
u26qgi
hvohb
ojmyo
S5hviw
5v26s
Joh9d
Jolhp
Op9fa
v49tz
07s3e
ud7s3

4pngi
7Tcddx
v20zu
udpll
pr49d
8tlp7
r6e8rk
ry689
gigxb
s3ymy
slfoz
ew30p
z07cb
hbcdx
3eudr
30pn6
bw3uk
rdrdr
sjs3g
gvZ2ol
eudp’/
kzwbz



O random code practice,

FO =

0

note:

pT7kl
=/,.2
1+iwl
yv4pru
15.w3
1tlbm
kxtt*
xtyie
h.uo,
h7203
4p34p
iawh7
xzecb
myiw’/
.klbi
ukfoh
wltro
bmc+4
, tgvo
9zect
xhj8r
eu’l2=s

+ ol

*htno
od?z,

xba/q
g*5d9
-vmyi
cbgze
vg*z4
ctvge
pxnwl
/ukbm
rplox
/ukxt
,pt.k
w3gie
w/w3u
fgz4dl
ge-vm
7y8n6
zaslb
vgey8
cx+u2
1n8n8

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

3/ukf
.6,pt
09121
3ydpv
w3-rb6
—rwlx
1js5*
ugz0i
riawl
c+0ng
r99b8
tdfsb
xvukf
ymctl
bgeug
Jsb5*1
ymgz—
gdp34
268ro
nwln2
6,tj4
rsfgv

=s]j8r
.kxza
5+c+0
asltl
myd.y
+ubmg
prugd
rwlxb
n2=oh
4720z
pTkx
W3-V
sln8n
biw7w
vg*vc
+1091
rqg05d
1917?x
zwlkl
=s5+g
7/ukx
ct789

SK
AS
AR

cxbey iwh*j

sjwl9
nugvu
biw3c
1i091n
*vcxn
hlxbe
a/ukx
J8rct
my8n2
p?lf-
myiw’/
, tcbg
3geyi
£t7877
nomct
hh*no
hj8nw
*ht]8
vo32k
tpt78
zawlr

lrmy4
gzdp’/
+u26,
2689+
wh7/u
u2kl5
p?p34
romy4
=sb5+g
?xdzs
Ojeu?
vukb8
e-*no6
mct.k
789za
gie-r
h.yi0
nz2=od
l1f=sf
77394l
iasbz

euz=0
prug*
kxtpx
tno3=
0j3=03
g*5*1
+cbkb
pplox
7/g05
vozas
f,p95
6, tnk
?z,+1
gey4’7
XvVugz
wh7a/
wltr=
91lné6m
zsft, t
kb8?v
Jwhh?
my8ri

h3478
5d?jqg
ns53=
=0zecC
2oh’72
+tmctx
mcbkf
p?lf-
*5*x].
5zmy8
vcxh.
feukb
wh?3qg
4pvas
4p34p
, tpt7
/uk£f6
ct.kl
pxnsl
ozect
3ubm2
awlri

9zasl
4pT7kl
/-rqg0
tvgey
kbymg
vugvg
=sfgv
*d?z,
6, pxXr
nomct
iw3u6
, w7
eu6g0
1xh7y
pl5*1
89zas
8rozs
f=o0zs
fie-v
vgiec
68n, .
aslb?2

fey8r
?xdzw
5*1xh
4°74pr
vsjqg4
*z41f
ct.kx
+i109h
-*jia
.oh.e
geukb
/u6bqgi
9+k15
8nogl
xh720
lfevy4
f-*do
f-211
ctlf=
+od?z
w3cty
68rsf

_*n2=
Tg*5*
7Ty8rm
g091~?
p305%*
y 2P
vy8rc
.yi09
aaslx
ctubqg
,tI18r
e-vct
W3-V
9b, pt
3/ugv
741+1
+0nuk
n8n8n
sj478
-v/=7
ie—*]j
gvg*v



J random code practice,

FO

ohjme
menrp
wlkfk
fnrir
xbxfy
byksh
ephla
gouvw
thxkg
zZvsuv
pfohh
drfba
ukfic
fdmtf
hpenp
louvit
mgoui
gdjcm
XVJux
sjipe
ofmrn
nephl

nswyx
oshgt
shsho
XXZoh
mrhrs
ggofd
yxXmgqgq
Jjryzy
ggicb
phiks
frlvp
llmen
bgtmr
kgtmr
ieane
giecz
czeni
ennui
ukdww
nnuic
Jtila
ymtwy

cbiep
jenrg
fdmrp
ksjbv
Jlsuk
ohlym
gouvw
mggie
zwlfn
hgicb
hjmgd
pgqgb
1rxv
ipldz
ntfks
VXX ZJ
pmric
cbshs
Juvgo
zenkf
gouip
kagthx

fmrlv
bfphc
girux
vksjb
suvph
rgqgie
ldsjc
anenr
ipkfo
bmrfd
ouipo
yxhkg
uxukd
czcze
Jjgbal
vaip]
osJlqg
hgthg
fwyxx
gdmec
tmtwl
kgiec

ntdww
zdtth
ricou
vwymr
Jmgdo
pfohh
mgbti
recbm
suiry
mtduil
uxirh
vvdaa
WWIW]
pyxal
louvt
rjiru
goukd
tjent
zofww
bgofb
jdhou
mtdwy

lirea
gtjen
viggo
hpgd]j
ukdww
hftzb
eczdt
rfdmr
xkswy
ryxmg
sjent
yvkfos
kshqgi
mennu
aggip
Xrgos
zczcb
wjvxt
Jjrhsj
allmg
kdbgt
zohkqg

lgvxr
tuxbz
sjczl
cmgdh
JUuxsw
dbbkf
vxkfn
pouxk
mentd
ggosh
uxbxh
wyzgt
epfof
icbgt
gdhou
wldgt
shsho
wyksh
enrir
bvyme
ofmtb
vvigi

gggqt
tean’

gvxtu
ouirj
jmgby
phczb
ipkfo
dzcze
uiryx
gthof
ksjdh
cmrnj
tbpjr
ohcbr
kfnyx
ieczd
fball
pdmgq
xxzqgt
phlaa
pjrji
cmrgb

hohpg
VXTWW
ieczb
iruvd
kshou
fnrip
suira
pwlip
kgico
banbg
ggofb
tjngqg
Jjipgb
zldsh
ancmt
rfban
mgdjc
vaipj
ealvp
lsuic
pgdho
dbzw]j

btiea
wwlfp
fpfoh
avkgt
kfpyx
Jptmr
lggos
ouvux
sjngq
ofdmr
allmg
iealqg
vyks]
ouipt
fkshu
bient
mepby
rhsje
himgd
ohfrl
ukdbs
rhshqg

1xbxh
wlkdw
hftzb
icmrl
almep
gbdzn
wlfep
zohkqg
9q9by
posje
btkgg
vvdco
dhggo
mrgdr
vuxxa
wjthx
ksjcm
phcbr
oukfk
VNrrc
hsjcz
tjeph



N random code practice,

FO =

1l (also G,

sent as

single chars)

ohvig
mOptr
8rkfa
19joh
dxp’e
ng2oj
05hbg
2907s
19zmi
S5vigx
prkxx
9dx3g
ukfu4d
x389f
dbwbv
3ukhb
26aau
ctzee
9dbw3
sj8bw
4r49t
305hb

fu2oj
gkzwb
s3kzg
9tz0n
cddré
migxj
kz26qg
Inkfu
ymyoh
5hv2o
h9dx5
x3ewb
7Tcvo]
acvoj
iew30
giecv
4rkz0
wbfau
ukz28
5fauid
51p71
asjmy

8ry4dp
£4998
xj8tr
689dr
p7y6q
ohbas
2907s
26gie
vohbz
jmyoh
hviw3
v26s3
oh9db
olhpr
p9fas
49tzg
7s3ee
47s3k
bwnmO
rkzgv
yogkh
6s19z

r49dx
tlp7s
08rkx
y689d
igx5h
3ymy4
lfoze
w30pt
O7cba
bcdxj
eudrqg
Opnb6s
w3ukz
drdrk
Js3gx
v201l1l
udp’/i
ZWHzw
Ty49t
w3y68
vozwl
mieu?

p9z28
19t5z
3eeuk
riecd
viw3e
prkxx
ecdba
Tecbc
umOnk
89zm0
Onkx3
lhv26
28bcv
fojs3
3ukhb
xj8rk
yeglp
5f49z
z07yo
rigx3
9tjeqg
89z20

rdjew
wbf4d9
hbg2g
dbctz
ukz28
xhplt
aslot
dxj8t
zmymy
nkz26
kf49z
acbau
207jmy
ewbfa
g268b
x3yba
rdrd’
w51x7]
1x3kf
gx3ec
Op/cv
z0no6s

nslx3
zgdx5
kfoln
eect]
bw3ec
Shbwl
1n05z
rgOn0
mOp9z
g2gqkz
gdxpn
20zgf
4prkh
udcv
ctjo6g
s1f8b
s3kzg
my68t
4970oh
drymO
4rdpl
lhbgi

ymiw5
facth
s1xj6
6gkx]
viwng
p/slt
07cba
prdrk
mOnkz
wHzgx
689t]
ud9otb
plllx
47s1h
05fo7]
aasl9
x3gx3
13ymg
9tzgf
5hbg0
11x738
yoJ]8t

zgdbc
1xjmi
aaslt
8rkhv
20769
19701
umOnO
f8rir
mieeu
3gdri
migx3
lpn6qg
J8bcd
plfo]
sm289
dx3gd
ectze
v201ll
acdxb
7Tybau
bctjo6
S5hvol

dbaac
yoh5f
lprkx
2928b
05foj
lhvoj
7Tiy6a
g07ct
4pnog
gxJj8t
gx3ec
iewns
ry689
ogkhv
fas30
ry49z
ewlng
x3kf4
hviw3
kxh9d
gOp7s
x3kzw

ddxpn
8rkz2
xhplt
au49d
s3ewl
8t513
slvgv
z0no6s
26s30
rgkfé
dbg28
lhvie
tijmig
0j89d
Tctis
w519z
20zee
p/slh
eukfa
xptly
3kfol
5f4p’7



O random code practice,

FO =

1

note:

oh72k
mctxv
cbkf=
?1f-*
5*1.6
zmy8n
cxh.1i
eukb,
h?3qge
pvasl
p34pp
tpt78
ukfoes8
t.klf
xnslft
zectv
uomz2 6
wlria
d9+0n
sj8ns
w305d
vcxh.

+ ol

bymgv
ugvg*
sfgvc
d?z, +
, PXT—
bmct.
w3ubg
p7w7/
u6g09
xh7y8
15*1x
9zasl
rozst
=ozstf
ie-vc
giec+
8n, .w
s1lb26
ukbmc
1b268
hh*je
ecbey

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

sjg4p
z41f,
t.kxv
109h.
*jiaa
oh.ec
eukb,
uogie
+k15.
n6g09
h7203
feyd’
-*d9+
-?11ln
tlf=s
od?z-
3ctyi
8rsfg
+073/,
n, .On
u2z2=od
iwh?3

305*1
p?p’k
y8rcx
yi09h
aslxh
+ubgé
tj8ri
-vctx
w3-vm
b, pt.
/ugvu
41+iw
Onukb
8n8n,
74789
v/-?x
e-*je
vg*vyg
.20d?
03==
zsjwl
geym?2

tlbmc
xXtt*v
+yiec
.u6,p
7203/
p34pp
awh7/
zechb,
yviwT7w
klbiw
kfohf
ltroég
mc+47
+gvoz
zectv
h3j8rc
uz=sl
*z417
z, .2k
Jmct7
91n2=
klbmg

SK
AS
AR

bgze-
g*z4l
tvgeu
xnwlr
ukbmc
pl9xp
ukxtt
pt.kx
3giey
Tw3ub
gz4lj
e-vmy
y8no6qg
aslb?2
gem8n
X+u26
n8ndr
whlxb
xhfgz
89zaw
slroz
z,+iw

rwlx+
JsS5*p
gz05r
iawln
+0ng4
99b8?
dfsb.
vukfs
mctlb
geugv
sb*x1+
mgz-r
4p341
68roz
wln2=
,£347
sfgvc
eyi05
41f-*
h.ymc
w3091
ltvgi

ubmg*
rugdh
wlxba
2=0oh7]
720zm
pkxp
w3-vm
1n8n,
iw7w3
g*vct
i091n
g05dh
91?xh
w/kl*
s5+gv
/ukxt
t789z
53=/-
d?z-r
xh.1i0
?xh7j8
asf,p

vCexXnNw
lxbeu
/ukxp
8rctr
y8n2=
?1f-7
yiw70
+cbgv
geyie
7872jm
bmct 7/
h*ne6g
J8nwh
htj8n
032kl
pt787?
awlri
v/-?X
ug*lx
jia/q
nwln?2
99+kx

h7/ug
2k15+
?p34p
omy4 7
s5+gv
xdzst
Jjeu26,
ukb8?
-*n6qg
ct.kx
89zaw
ie-rw
.y109
2=0dz
f=sfk
Jja4l]
asbzm
hfgz4
h7203
4pl5%*
=slrs
hfgvg

*H*1+
cbkbm
pl9xp
/q05%*
0zasb
, P95V
tnkf

z,+iw
ey4l4
vugz4
h7a/,
ltr=/
Inémc
sft, tp
b8?vo
whh?3
y8ria
p7kl*
/ukf=
ltxza
fgz05
*z4p'



J random code practice,

FO

mgbyk
hczbf
pkfos
zZCczep
iryxk
thofb
sjdhg
mrnjt
bpjrj
hcbrz
fpyxa
eczdr
ballm
dmgqgv
xzgte
hlaal
Jrjip
mrgbd
yxcbi
pyzof
wymr £
Jirs]

shouk fpyxa
nripj ptmrg
uiral ggosw
wlipo uvuxz
gicos jngqg
anbgo fdmrp
gofba llmgb
Jjnggl ealqgv
ipgbv yksjd
ldsho uiptm
ncmtf kshuv
fbanb ientw
gdjcm epbyk
gipjr hsjep
alvph jmgdo
suico hfrlv
gdhou kdbsh
bzwjr hshqgt
cbbmt vvuvj
wwldz enipk
byxhk sjbti
necou 1pgip

lmepb
bdzne
lfepg
ohkgt
agbyz
osjep
tkggd
vdcou
hggof
rgdrh
uxxal
Jthxm
sjcmg
hcbrx
ukfks
nrrco
sjczn
Jjephc
wlaal
fqgqg
ecbp]
gdhgi

ykshqg
phlay
ouvwj
hxkqgg
vsuvp
fohhf
rfbal
kficb
dmtfk
penpi
ouviqg
gouic
djcme
vjuxu
Jjipen
fmrnj
ephly
zbfph
sukqgil
dofxu
ptohc
czlgt

gofdo

Xmgqg
ryzym
gicbz
hjksh
rlvph
lmenp
gtmri
gtmri
eanen
ieczy
zenip
nnuic
kdww ]
nuicz
tjlag
mtwyk
alxdn
pjrjg
irecz
zbfph

J1lggqgq

hlymr
ouvwl
ggiea
wlfni
gicbb
Jmgdo
gagby
rxviju
pldzc
tfksj
XXZqVv
mrico
bshsh
uvgof
enkfg
ouipt
gthxk
zuirh
ballo
wlfpw
alvnt
iczls

ggiep
dsjcm
nenrr
pkfos
mr £dm
uipou
xhkqgv
xukdw
zczep
gball
gipjr
sjlag
gthgt
WYXXZ
dmecb
mtwl]
giecm
uxkfn
sjlgil
lkfks
duipk
Jbtkg

fohhh
gbtie
ecbmr
uiryx
tduir
xirhs
vdaay
wiwjk
yxalm
ouvig
Jirux
oukdz
Jjentw
ofwwj
gofea
dhouk
tdwyz
kdgti
cmepb
huvux
dcmea
ipldz

ftzbd
czdtv
fdmrp
kswym
yxmgq
Jjentu
kfosw
shgie
ennui
gaipg
rgosw
czcbs
Jvxtw
rhsje
11mgb
dbgto
ohkqgv
ecbrx
ymepg
zgtea
lmgbv
epyzo

bbkfp
xkfni
ouxkd
entdu
goshqg
xbxhk
yzgtc
pfoft
cbgto
dhouk
ldgti
hshof
ykshp
nrirx
vymep
fmtbp
vigic
v1kdw
ouxkf
nljbv
WWWJ T
hkgtj



N random code practice,

FO = 2 (also G,

sent as

single chars)

iwng?2
7s1ltl
7Tcbau
rdrkf
Onkzm
5zgx3
89tjm
49t51
111x73
7slhp
5fojs
as19d
3gx3e
3ymgv
tzgfa
hbg07
1x38b
0j8th
0j8ry
foz07
lecdx
J8rdp

10

073690
97011
mOn07
8rirqg
ieeud
gdrig
1gx3g
pno6qgi
8bcdr
1foje
7289f
x3gdr
ctzee
2011x
cdx5h
ybauk
ctj6g
hvolx
ohbct
yohpr
30pn6
ngieu

5fojs
hvoj8
iybas
O7ctz
pno6qg2
xj8tr
x3ecd
ewnsl
y689t
gkhvo
as307
yv49zw
wlng?2
3kfdp
viw3e
xh9dx
Op7s3
3kzwb
17cdb
kz07c
89dba
4r68b

3ewln
£t5130
lvgv?2
On6sl
65305
gkfip
bg289
hvieu
Jmigx
789dd
ctjs3
519z2
ozeec
7s51h9
ukfas
pt7v4
kfol3
fdp7s
cbg07
bg26s
aslll
ctimy

g2ojm
S5hbgk
g07sl
9zmiy
vigx5
rkxxh
dx3gx
kfud’7
789fa
bwbvi
ukhbg
baaud
tzeew
dbw3u
78bwb
r49t5
05hba
1tlp7
Y620
Jol3u
hv4d7s
olnsl

igxjo
z26g2
nkfu2
myohv
hv2o]j
9dx5h
3ewbv
CVojo
CVvojo
ew30p
iecvi
rkz07
5faui4
kz28b
faudr
lp7iy
sJmy6
cdddd
11x7s
477ecv
1ltlp7
p7iym

hbas3
g07sl
6giew
oh5z0
myohb
viw3e
26s30
h9dbw
lhpr4
9fas]
9tzgv
s3eeu
7s3kz
wnmO 7/
kzgvw
6gkhv
s19zm
bgkx3
3gx3u
oh5f8
cdxp9
yoln8

ymy4p
fozee
30pt7
7cbau
cdx]8
udrqgl
pnosl
3ukz?2
rdrkft
s3gx3
2011x
4pTiy
wHzwb
y49tz
3y68r
ozwl9
ieu28
On0b5z
4pTie
rkfas
zmQO7¢c
9dbg?2

rkxxx
cdbaa
ecbcd
mOnkz
9zm0On
nkx3k
hv26a
8bcv2
0js3e
ukhbg
J8rkx
6g0pr
f49zw
07yol
iex3g
t£3690
9z20z
gf8ba
eewln
307ct
viy6s
olhpr

hpltb
s19tl
xj8tr
mymym
kz26qg
£49zg
cbau?
ojmy4
wbfau
268bc
3ybas
4rdTs
51x3jm
x3kf4
x3ecd
p/cvé
Oné6sl
aslh9
gigv2
zgfac
3ecdr
kfoz0

hbwlp
n05z0
gOnOp
Op9zm
2gkzw
dxpn6
ozgfu
prkhp
47cv4
tjegl
1£f8ba
3kzgx
yo68tl
9joh9
rym05
rdpll
hbgiy
drkz?2
g0n05
t19dr
iyolx
noslp



O random code practice, FO = 2

note: = dahdidididah
/ dahdididahdit
* didididahdidah SK
+ didahdididit AS
didahdidahdit AR

2o0zmy 8n2=s 5+gvo zasbz my8n6 mct.o h.ec+ u6gdp 34ppp 19xp9% 9b87p
Tkxp? 1f-?x dzsf, p95vc xh.iw 3u6bge ukb,t j8ria wh7/u kxttd fs5.w
3-vmy iw707 eu26, tnkfe ukb,p 7w7/u 6gie- vctxz ecb,p t.kxv ukfsl
n8n,+ cbgvu kb8?z ,+iwh ?3geu 6909+ kl5.w 3-vmy iw7w3 gieym ctlbi
w/w3qg eyie- *n6ge y474p vaslx h7y8n 69g09b ,pt.k 1lbiw7 w3u6g eugvg
*vet7 8?jmc t.kxv ugzdp 34ppl 5*1xh 7203/ ugvuk fohfg z41ljs 5*1+i
091n6 mct78 9zawh 7a/,t pt789 zaslf ey474 1+iwl troge -vmym gz-rg
05dhh *n6gi e-rwl tr=/u kf68r ozsf- *d9+0 nukbm c+47y 8no6gd p3419
1?xhj 8nwh. yi091 némct .kl1f= ozsf- ?11n8 n8n,+ gvoza slb26 8rozw
7k1*h tj8n2 =odzs f,tpx nslfi e-vct 1f=sj 4789z ectvg ey8nw 1ln2=s
5+gvo 32klf =sfkb 8?voz ectvqg iec+o d?z-v /-?xh j8rcx +u26, tj47/
ukxtp t78?7 g4ljw hh?3u 6m268 n, .w3 c+yie —-*jeu 2=sln 8n8rs fgvct
789za wlria sbzmy 8riaw lrias 1b268 rsfgv g*vg* z41ljw hlxbe yi055
3=/-v /-?xh fgzd4p 7kl*d 9+0Onu kbmc+ 03/,. 20d?z ,.2kx hfgz4 1f-*d
?z-ru g*lxh 7203/ ukf=s j8nsl b268n ,.0no 3==sj mcb8 9zawh .ymcx

h.i03 ia/g4 pl5*1 txzaw 305dh h*jeu 2=odz sjwl9 1ln2=s lrozw 30917
xhj8n wln2= slrsf gz05v cxh.e cbeyi wh?3g eym2k lbmgz ,+iwl tvgia
sf,p9 9+kxh fgvg* z4dp7k xp?p7 g*5d? f=ohf kfs5. 0j47/ ukl*d 9bkbm
gvsjg 09b,t db89+ 4.i07 iaa/- ?xhj4 789ze -*jey iasbz m2kfe ukfs5
+gz, . 2klln , .w3- vgey4 .odnu gzec+ kl5+c bkf=s fkb8? z-rug dlSh.
u6,pt 741+i 09h7/ ukl?x dzw7k xp?p7 g*1ltl biw3- r===0 zawh. u2kxh
j8r-* n2=/u gvy8n wlné6g 05rwh *jeu6 g05r0 9h7a/ -?11n ,+gz, +iwh*
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J random code practice,

FO

rfdmt
ipoux
hkgvv
ukdww
czepy
ballo
ipjr]
Jlago
thgtj
YXXZO
mecbg
twljd
iecmt
xkfnk
jlgic
kfksh
uipkd
btkgi
nripj
viggo
xkfpw
vdcmg

12

duiry
irhsj
daayk
Jwjks
xalme
uviqgg
iruxr
ukdzc
entwj
fwwir
ofbal
houkd
dwyzo
dgtie
mepby
uvuxz
cmeal
pldze
ptoha
uxipv
lkfic
gtcmr

xmggqg
entux

foswy
hgiep
nnuic
qipgd
goswl
zcbsh
VXTwy
hsjen
lmgbv
bgtof
hkgvv
cbrxv
mepgo
gtean
mgbvw
pyzoh
nlhnn
anenr
bgtmt
njvvt

oshqgt
bxhks
zgtcm
foftb
bgtoh
houkf
dgtie
ihofb
kshpd
rirxx
ymeph
mtbp]
fgicm
lkdwy
uxkfp
1ljbvw
Wwjrj
kgtjn
uksjg
posho
wjvvd
oulen

hofba
jdhag
rnjt]
pjrji
cbrzl
pyxan
czdrf
allmg
mgqavq
zqtea
laals
rjipg
rgbdb
xcbic
yzofw
ymrfb
irsjn
ecmgq
dofxu
hpenp
aavkft
kfenu

nbgof
ofbal
ngqgie
pgbvy
dshou
cmtfk
banbi
djcme
ipjrh
1lvphj
uicoh
dhouk
zwjrh
bbmtv
wldze
yxhks
ecoui
tcmrn
ipagb
icohc
ggouv
kgtof

dmrpo
Ilmgbt
algvv
ksjdh
iptmr
shuvu
entw]j
pbyks
sjeph
mgdou
frlvn
dbshs
shgtj
vVuvijw
nipkf
Jbtie
pgipg
lhnns
alnay
brzlf
wilpkt
ohftb

sjepf
kggdr
dcouk
ggofd
gdrhp
xxalo
thxmg
Jcmgd
cbrxv
kfksj
rrcof
jczne
ephcz
laals
aggqgd
cbpJjp
dhgic
wyzof
ztcmt
epicm
gicmr
rxvli

ohhfr
fball
ficbg
mtfkg
enpie
uvigi
ouicz
Jjcmen
Juxuk
ipenn
mrnjt
phlym
bfpha
ukgip
ofxui
tohcz
zlgtj
ykdbz
brzlf
tuxbz
irxvl
posje

1vphj
menpg
tmrir
tmrip
anent
eczyx
enipm
nuicb
dwwju
uicze
Jlago
twykqg
1xdnz
jrjgb
reezw
bfpha
lggagi
yzldg
epico
vgipl
kficb
phczb

mgdou
qgbyx
XvVjux
ldzcz
fksjg
XZqvqg
ricos
shshqg
vgofw
nkfgd
uiptm
thxkg
uirhu
allos
lfpwl
lvntd
czls]
vwykf
hanjv
dbshu
sjiru
fntw]



N random code practice,

FO = 3 (also G,

sent as

single chars)

dxj89
4rgOn
n6slh
ukz28
4drkfo
3gx3u
011x]
P71iy6
S5zwbf
49tz0
y68ri
zwl ot
eu289
n05zg
pTiee
kfas3
mQO7cv
dbgZo
9j011
hbg2g
n05£8
hviym

zmOnk
kx3kf
vz2bac
bcv2o
js3ew
khbg?2
8rkx3
gOpr4
49zwb
Tyolx
gx3gx
jog0p
22020
f8baa
ewlng
O7ctz
1y6s3
lhprk
hv47c
Onkhb
rkfu4
gfu4d?9

z26g2
49zgd
bauZo
Jjmy4p
5faui
68bct
ybasl
rd47s3
1xjmy
3kf49
3ecdr
Jcvir
n6slh
s1hod
igv2g
gfact
ecdri
fozOn
tlt5f
w30pt
Tcvoz
t51hb

gkzwb
Xpno8
zgfu4
rkhpl
Tcvd’l
76905
f8baa
kzgx3
68tl13
Joh9t
ym05h
4pll11
bgiyo
rkz2o
On05f
19dri
yolxj
6slpn
aasjs
rgkzg
wblhv
aaukz

Zzgx3g
9tjmi
9t51p
11x738
slhpl
fojsj
s19dx
gx3ec
ymgv2
zgfac
bg07y
x738bc
78t5h
J8ryo
0z07y
ecdx3
8rdpn
qiymg
Jol3u
dbwbv
2bacb
gvgfa

drigx
gx3gx
nogie
bcdry
fojeqg
289fa
3gdry
tzeew
011x3
dx5hv
baukx
tj 690
volx3
hbctl
ohprk
Opn68
gieud
fudot
4r6s3
iy47s
g2qg07
acvéir

J8trqg
3ecdb
wnslh
689t 7
khvoj
s307c
49zw5
1ng2o
kfdp7
iw3eu
h9dxp
p7s3k
kzwbf
7Tcdbc
z07cb
9dbaa
ro8bc
1t5fu
gxjm0
lhplv
sl7cb
kxhpl

kfdpr
g289d
vieuk
migxj
89ddb
tjs3u
19z26
zeect
s1h9d
kfasj
t/y4dr
fol30
4p7sl
bg07y
g26s7]
slllh
tjmyo
20z07
5fuidp
gviyo
qiyo]
h9dr4

kxxh9
x3gx3
fudic
89fac
wbvie
khbgi
aaudr
zeewb
bw3uk
8bw5bf
49t51
Shbas
tlp’c
6gZ2o1l
om3ud
v4d7sl
Inslp
ewbShv
lhplv
zgdxb
oh9dr
rgkf4

dx5hv
ewbv2
vojoh
vojol
w30p9
ecv4?o
kz07s
faud’
z28bw
audrk
p7iy6
Jmy6s
ddddb
1xjs3
Tecvo
tlp’c
7Tiymy
4plf8
gvivy4
v2olh
kfud7
p/slt

iw3eu
6s30p
9dbw3
hprir
fasjs
tzgv2
3eeud
s3kzw
nm07y
Zgvw3
gkhvo
19zmi
gkx30
gx3u4
h5f8r
dxp9z
0ln89
riewl
7cthl
p7s30
sj8rk
19zwb

13



O random code practice,

FO = 3

note:

pt.kl
gvukf
+iwlt
ukbmc
8n, +g
789ze
-?xh7]
*jeu?
*vg*z
od?z,
==sjm
Jwlol
ym2k1
£fs5.0
*Jjeyi
kf=sf
iw3-r
h7a/-
1f-?x
tvgeu
fs5+c
tr==

14

+ ol

biw7w
ohfgz
roge-
+47y8
vozas
ctvge
8rcx+
=s1n8
41jwh
.2kxh
ct789
n2=sl
bmgz,

347/u
asbzm
kb87?z
===07z7
?11n,

dzw/g
kfod3
bkf68
-rqg05

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

3ubge
419s5
vmymg
nog4p
1b268
y8nwl
u2lo6, t
n8rsf
1xbey
fgzdl
zawh.
rozw3
+iwlt
k1*d9
2kfeu
-rugd
awh.u
+gz, +
dl51b
-vctx
rozsj
dhltv

ugvg>*
*1+10
z-rq0
34191
rozw/
n2=s5
347/u
gvct?
10553
f-*d»
ymcxh
0917?x
vglas
bkbmg
kfs5+
19h.u
2kxhj
iwh*n
2=s74
vugve
whltr
m26, .

vct78
91nom
5dhh~*
?xh7j8
kl*ht
+gvo3
kxtpt
89zaw
=/-v/
zZ-rug
1071
hj8nw
f,p99
vsjgO
gz, .2
6,pt7
8r-*n

.odnu
xnslft
bge-v
Onkb?2

SK
AS
AR

?imct
ct789
nogie
nwh.y
78n2=
2kl f=
78?279
lrias
-?xhf
*1xh7
a/qgdp
In2=s
+kxhf
9b, td
klln,
41410
2=/ug
rg05d
gvyé4’]
iaw7k
geukb
=0zw3

.kxvu
zawh'/
-rwlt
1091n
odzst
sfkb8
41jwh
5zmy8
gzdp’/
203/u
15*1t
lrsfg
gvg*z
b89+4
W3-V
9h7/u
vy8nw
151by
893vy4
1*htn
yP3-Vv
4pl191

gz4p3
a/,tp
r=/uk
omct.
, tpxn
?voze
h?3u6
riawl
k1*d9
kf=s7]
XZaw3
z05vc
4pTkx
L1071
gey4.
kl?xd
1no6g0
mgz, .
prg09
kfias
giasf
*d9bg

4pplb
t789z
foe8ro
klf=o
slfie
ctvgi
m268n
riasl
+0nuk
8nslb
05dhh
xh.ec
p?p7g
aa/-?
odnug
zw/kx
5rwh*
6899+
1*htn
Jjs5*p
-*d9%b
vugz4

*1xh'
aslfe
zsf—-*
zsf-"?
-vectl
ec+od
, .W3C
b268r
bmc+0
268n,
*Jjeu?
beyiw
*5d?f
xhj47
zectk
p?pig
Jjeubq
ohtj4
kfiaw
v/-?1
kfoe8r
p7kxp

203/u
v4741
d9+0n
11n8n
f=sj4
?z-v/
+tyie-
sfgvg
3/, .2
.0no3
=odzs
h?3ge
=ohfk
89ze-
15+cb
*1tlb
05r09
.u68?
7gdhl
lrsfk
sj8rc
?1jwh



J random code practice,

FO

drhpe
xalou
hxmgo
cmgd]j
brxv]
fksji
rcofm
cznep
phczb
aalsu

gggdo
bpjpt
hgicz
yzofy
tcmtb
picmt
icmri
xvl1lip
layxm
kngi
giruv
dcmec

npiea
vfqgie
uicze
cmenn
uxukd
pennu
rnjt]
hlymt
fphal
kqip]
fxuir
ohczb
1gtjl
kdbzy
rzlfe
uxbzv
rxvlk
osjep
goswy
czngb
fouks
biczl

nentf
CZYXX
nipmr
uicbs
wwjuv
iczen
lggou
wykgt
xdnzu
rjgba
eczwl
fphal
gggic
zldgv
picoh
gipld
ficbs
hczbf
zgtea
Xfww]
Jjirux
gvvda

ksjgb
Zqvqi
icos]
hshgt
gofwy
kfgdm
iptmt
hxkgi
irhux
1llosj
fpwlk
vntdu
z1lsjb
wykfn
anjvv
bshux
Jiruv
ntwjt
1xdnb
pvCczw
tuiea
aymrg

allou
pjrji
lggou
hgtje
xxzof
ecbgo
wljdh
ecmtd
kfnkd
lgicm
fkshu
ipkdc
tkgip
ripjp
fggou
kfpwl
dcmgqg
Jlswy
ientw
jptoh
lvnrr
Osuxz

viggqg
ruxrg

kdzcz
ntwjv
wwjrh
fball
oukdb
wyzoh
gtiec
epbym
vuxzqg
mealm
ldzep
tohan
xipva
kficb
tcmrn
mgbzv
Jjthza
czdtt
cohcb
gtecb

ipgdh
oswld
cbshs
xtwyk
sjenr
mgbvy
gtofm
kgvvt
brxvl
epgou
teanl
gbvww
yzohk
1lhnnu
nenrp
gtmtw
jvvio
agbfp
ymgos
hgthg
pJjpvc
pjrji

oukfp
gtiec
hofba
shpdm
irxxz
mephl
tbpjr
gicmr
kdwyx
xkfpy
Jbovwy
wirji
gtine
ksjgd
oshoh
Jjvvda
uienk
fmrnj
wwjuv
thofd
bkfpf

penpg

yxanc
zdrfb
11mgd
gavai
gteal
aalsu
Jipgd
gbdbz
cbicb
zofww
mrfby
rsjne
cmggt
ofxui
penpi
aykfqg
fenuk
vvdco
ealou
ohlym
mtbpl
ouxir

mtfks
anbie
Jcmep
pJjrhs
vphim
icohf
houkd
wjrhs
bmtvv
ldzen
xhksj
couilp
cmrnl
pagba
cohcb
gouvw
gtofo
swlyk
vdcos
twwwy
fnkds
Jiruv

huvux
ntwjt
byks]j
Jjephc
gdouk
rlvnr
bshsj
hgtje
uvjwl
ipkfqg
btiec
gipgd
hnnsw
lnayz
rzlfe
Jpkfqg
hftbr
dcosw
wlayx
Xv1ip
Jjcouv
dayks

15



N random code practice,

FO =

4 (also G,

sent as

single chars)

9ddbw
js3uk
9z26a
eectz
1h9db
fasj8
Tydrd
01305
p/slt
g07y6
26sjo
111hv
jmyol
0z07e
fudpl
viyoi
iyojo
9drir
bgkz2
miymy
68rkh
viy68

16

S5view
hbgie
audrk
eewbf
w3ukz
bwbfa
9t51p
hbasj
lp/cd
gZ2o0ll
13ud’
477slt
nslp’/
wbhvi4
hplvg
gdxbv
h9drk
gkfidp
bau2o
0l3gx
baaas
ryoln

30p9ft
cv4 9ot
z07s3
auds
28bwn
udrkz
71y6Qg
my6sl
dddbg
x]s3g
ecvoh
lp7cd
iymyo
plf8r
viy47
201hp
fuds
7s1ltl
zgfac
p/yol
J8rkx
slhv?2

asjs3
Zgv20
eeudp
3kzwb
m07vy4
gvw3y
khvoz
9zmie
kx30n
x3udp
5f8rk
xp9zm
1In89d
iewl?9
ctb5lh
7s30n
78rkh
9zw51
ddddr
hbcvo
Jbaac
bas3y

gx3uk
11x738
7iy6Qg
zwSf4
9tz07
68rig
wl9tj
u289z
05zgf
Tleee
fas30
07cvi
bg2ol
jollh
bg2g0
05f8r
viymg
p7ymy
v49zw
lhv47
dxpt’
bactz

hbg26
rkx3y
Oprédr
9zw51
yolx3
x3gx3
6g0p7
2010n
8baas
wlngi
Tctzg
yos3e
hprkf
v4lct
nkhbw
kfud’
fudot
mgxov
519fa
s19t5
y47sl
gfasl

8bct]
baslf
47s3k
Xjmy6
kf497
ecdry
cvdrid
6slhb
1h9dr
gv2g0
factl
cdriy
oz0no6
1t5fa
30ptr
CVOZW
51lhba
28tlp
uz26au
ZWHzw
llhbc
11x738

6g05f
8baas
Zgx3g
8t13y
oh9tz
m05hb
plllx
qiyo]
kz207j
n05fo
9drie
0l1x738
slpng
asjs
gkzgd
51hv2
aukzg
r49tb
28bwn
5zgx7]
bwlpr
bwbv?2

0Jsj2
19dx3
x3ect
mgv2o
gfacd
g07y6
J8bct
8t5hv
8ryoh
z07yo
cdx30
rdpng
iymgf
ol3u4
bwbvi
bacbg
vgfaa
lhvie
b6s3uk
ohbas
4pllh
gOnkx

89fas
gdry4
zeewl
11x3k
x5bhvi
aukxh
Jjoqg0lp
0lx3k
bctl?
hprkz
pn689
ieudr
udotl
ros3g
y47s1
2907s
cvirk
ecbac
hviee
Jmiy4
5zgfo
J8rkh

307ct
9zwbH1
ng2o0z
fdpTs
w3euk
9dxpt
7s3kf
zwbf4
cdbcb
07cbg
dbaas
68bct
t5fu2
x3m05
hplvg
17cbg
xhplh
vieec
cbgkz
9drir
zeukh
v2g20



O random code practice,

FO =

note:

tpxns
vozec
?3ubm
iawlr
1*do+
f=s738
zaw30
05vex
p7kxp
i0jia
ev4d.o
1?xdz
n6g05
gz, .6
rg091
fiasj
iasf-
d9bgv
.iw3u
geuoq
y8rct

+ ol

1fie-
tvgile
268n,

iaslb
Onukb
nslb?2
5dhh*
h.ecb
plg*
a/-?x
dnugz
w/kxp
rwh*j

899+0
*htnk
sb*pv
*d9bk
ugz4p
bmymg
05vg*
vm2=s

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

vctlf
ctod?
.w3c+
268rs
mc+07]
o8n, .
Jjeul=
eyiwh
5d?f=
hj478
ec+kl
plg*
eu6qgl
htj4.
fiaw7
/=211
fo8rs
Tkxp?
zZ-rug
1.2kx
J8rcx

=s3477
z-v/-
yle—*
fgvg*
/, .20
Ono3=
odzs
?3gew
ohfkf
9ze-*
5+cbk
1tlbi
5r09h
u68?1
gdhlt
rstkf
Jj8rct
1jwhh
*5d7? ]
d3c+k
ba/ug

89zec
?xh]j8
Jeuz=
vg*z4
d?z, .
=sjmc
wl9ln
m2klb
s5.07
Jeyia
f=sfk
w3-r=
Ta/=7?
f-?xd
vgeuk
sb+cb
r==/—
*Jiey
gdljw
xdzw'/
*ltxz

SK
AS
AR

tvgey
rcx+u
sln8n
1jwhl
2kxhf
t789z
2=slr
mgz, +
47 /uk
sbzm?2
b8?2z-
==0za
11ln,+
zw/gd
fod3-
kfoe8r
rg05d
mg*pv
hh?7a
kxtt*
aw7kl

8nwln
26,t]
8rsfg
xbeyi
gz4lf
awh.y
ozw30
iwltv
1*d%9b
kfeuk
rugdl
wh.u?2
gz,+i
151b2
vctxv
0zZsjw
hltvm
/1 P?p
/ueémy
vg*vg
?xd3c

2=s5+
47 /uk
vct78
0553=
-*d?z
mcxh.
91?xh
giasf
kbmgv
fs5+g
9h.u6
kxhj8
wh*n2

ugvcex
hltr6
26, .0
305dh
mc+07]
*vct.
b8?p3

gvo32
xtpt7
9zawl
/=v/=
-rug*
i0jia
J8nwl
, P99+
sjg09
z,.2k
,pt74
r-*n2
==/-r
odnug
nslfi
ge-vqg
nkb2=
ltr=/
=o0zecC
oh.ec
09121

klf=s
87794
riasb
?xhfg
1xh72
/gdpl
n2=sl
kxhfg
b, tdb
11ln,.
1+i09
=/ugv
g05d1l
vy478
aw/kl
eukb,
ozw34
gd.e-
tr=/qg
beuZo
5.0738

fkb8?
1jwhh
zmy8xr
z4pTk
o3/uk
5*1tx
rsfgz
vg*z4
89+4.

w3-vq
h7/uk
y8nwl
51bym
93vy4dp
*htnk
p3-vqg
plol~*
r=/q4
4.iw3
d9bgv
riect

17



J random code practice,

FO

rxxXzq
ephla
bpJr]
icmrg
dwyxc
kfpyz
bvwym
Jrjir
tjnec
sjgdo
shohp
vvdaa
ienkf
mrnjv
wjuve
hofdm
kfpfm
enpgo
kagtkg
uicof
ecbgqg

gqvqgi

18

tealv
alsui
ipgdh
bdbzw
bicbb
ofwwl
rfbyx
sjnec
mgqgtc
fxuip
enpic
ykfqg
enukqg
vdcos
alouv
hlymt
tbplf
UxXir]
gbfpf
tbrzl
thgtj
rzjra

phjmg
cohfr
oukdb
jrhsh
mtvvu
dzeni
hksjb
ouipg
mrnlh
ggbal
ohcbr
ouvwj
tofoh
wlykd
dcosw
WWWYX
nkds?
iruvd
mtzbf
fensu
entux
lgicm

doukf
lvnrr
shsijc
gtjep
viwla
pkfqg
tiecb
ipgdh
nnswy
nayzt
zlfep
pkfgi
ftbrx
coswl
layxk
vlipg
couvd
ayksh
phalv
kdshg
bxfwy
gbtkg

ksjip
cofmr
zneph
hczbf
alsuk
ggdof
pjpto
giczl
zofvyk
cmtbr
icmtu
cmrir
vlipo
ayxmg
ggqgic
iruvf
cmecb
glienr
nrrea
iephc
zjran
1rxvj

ennui
njtjl
lymtw
phalx
qigjr
xXuire
hczbf
gtmlg
dbzyz
zlfep
xbzvqg
xvlkf
sjeph
OSWYZ
zngbx
ouks]
iczlg
ipjpt
lgvvd
zdrhr
eayme
uvggt

czenk
ggoui
yvkgth
dnzui
Jjgbal
czwlf
phalv
ggicz
ldgvw
icoha
ipldb
icbs]
czbfn
gteal
fwwip
iruxt
vvdaa
mtwl ]
aymgd
uvigil
pieal
cmrlx

fgdme
ptmtw
xkgie
rhuxk
losjl
pwlkf
ntdui
1sjbt
ykfnr
njvvt
shuxk
iruvd
twit]
xdnbi
VCZW]
uieal
ymrgo
djeay
mgqvs
cmtuv
shpdo
bzvgl

cbgof
1jdho
cmtdw
fnkdg
gicme
kshuv
pkdcm
kgipl
ipjpt
ggoux
fpwlk
cmggt
lswym
entwj
ptohc
vnrrc
sSuxzq
ztcoh
wivvd
ntdui
ukfic

plfpy

ballm
ukdbg
yzohk
tiecb
pbyme
uxzgt
ealmg
dzepy
ohanl
ipvan
ficbg
cmrnj
gbzvg
thzay
zdtth
ohcbp
tecbp
ftbrz
aaayz
ryxme
zczen
Xczuil

gbvym
tofmt
gvviqg
rxvlk
pgoux
eanlj
bvwww
zohkqg
hnnuk
enrpo
tmtw]j
vviou
gbfpf
mgosw
gthgt
Jpvcb
Jrjip
lfgby
aayks
cosuv
kfgdm
pvcbk



N random code practice,

FO =

5 (also G,

sent as

single chars)

h9tzg
05hbg
111x]
iyo]j8
720738
05foz
driec
1xJ8r
lpngi
sJjsjo
kzgdb
1lhv26
ukzgv
49t51
8bwno
zgxjm
wlprd
wbv2qg
28bg2
baukh
68riw
mgv2o

facdx
07y6a
8bct]
tbhvo
ryohb
07yoh
dx30p
4pngi
ymgfu
13udr
wbviy
acbg?
gfaac
hviee
s3ukh
hbasj
pllh5
Onkx]
8tlpr
plhpl
5zwbf
hplnO

S5hviw
ukxh9
6gO0p’/
1x3kz
ctl’/c
prkz0
n689d
eudro6
49tlt
6s3gx
47s1lh
g07sl
vidrkx
cbacv
vieec
miy49
zgfoz
8rkhv
4pltl
vgfum
49zgd
Tieee

3eukf
dxpt’
s3kfo
wbfdp
dbcbg
Tcbg?
baasl
8bct]
5fuZo
Jm05f
plvgv
7Tcbgi
hplh9
ieecb
bgkzm
drdro6
eukhv
29207
p/cdx
gfojm
xply4
cdbg?2

asj8b
v4rd9
1305h
7s1tl
07y6qg
bsjol
11hv4
myoln
z07ew
udplh
iyozg
yojoh
dridrqg
gkz26
iymyo
8rkhb
iy68r
my497]
pt/ew
v4pTs
plnOn
oh9db

wbfau
t5lp7
basjm
p/cdd
2011x
3udie
7sltl
sln71i
S5hvip
plvgv
dx5v2
9drkf
kfdp7
au2o0z
13gxp
aaas’
yolns
ollhv
nslhv
19ddr
a2qgig
wnmg £

4rkzg
iyegk
y6s19
ddbgk
Js3gx
cvohb
p/cdx
ymyol
1f8ri
iy4ic
olhp7
udisj
s1tl9
gfacd
7yolh
8rkxj
1hv26
ozwl9
2qiw3
khbgi
viewn
u49dd

vw3y6
hvozw
zmieu
x30n0
3udp’
f8rkf
p9zm0
n89db
ewl9j
t51hb
s30n0
8rkhv
zwblp
dddry
bcvol
baacd
as3yb6
tzumO
ymgvi
yOzgx
8tl3e
X5v20

8rigx
19tj6
289z2
5zgf8
leeew
as307
Tcviy
g2olh
ollhv
g2gq0n
5f8rk
iymgf
7ymym
49zwb
hv4d7s
xptly
actzg
5fukx
wblhv
p9zm0
ukfud
1h5fo

3gx3e
gOp7c
0z0n6
baasl
Ingig
ctzgf
b6s3ec
prkfo
477ctl
khbw3
fudic
u49th
gxbv2
19fau
19t5z
47s11
fasll
hplhp
269kt
nkz2g
rdrkz
J8bgk

cdrym
vidridp
s1lhbqg
h9drk
v2g0n
actl9
driyo
z0n6s
tbfaa
Optrg
VOZWS
lhbaa
8tlpr
26au?
wbzwb
lhbcb
1x738b
1lvwng
aaumy
ieewn
gvw3y
hbcbw

19



O random code practice,

FO =

5

note:

*d?z-
cxh.i
1?xhj
iasf,
bmgvs
sb+gz
h.uo,
xhj8r
h*n2=
sj4.o
gvcxn
ltroeqg
6, .0n
05dh1l
ct0]=
vct.o
8?2p30
slfeu
vdTa/
a/qg4l
=sjmg
/=v/-

20

+ ol

rug*1l
0jia/
8nwln
pP99+k
7g09b
, -2kl
pt741
_*nzz
=/-rq
dnugv
slfia
e-vge
kb2=0
tr=/q
ozect
h.ecb
917215
kfohj
yP?P3
91*ht
*vg*z
*hp70

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

xh720
gdplb
2=slr
xhfgv
, £db8
In, .w
+i09h
/ugvy
05d15
yv4789
w7k1l*
ukb, p
zw34p
4.e-r
r=/qg4
euZod
.038r
8rctr
09xp?
nkbyi
419s5
Jeyia

3/ukf
*1ltxz
sfgz0
g*zdp
9+4.1
3-vqge
7/ukl
8nwln
1lbymg
3yapr
htnkf
3-vgi
191*d
=/q4.
.1w3g
9bgvy
iectr
bmy8n
p7g*l
038n6
*1.20
wh7a/

=s78n
aw305
5vcxh
Tkxp?
Ojiaa
y4.od
?xdzw
6g05r
z, .68
g091~*
iasjs
asf-*
9bgvu
iw3ub
eu6bqgl
8rctv
===57]
6gdlf
txze-
gdpk
hp70n
-*d9+

SK
AS
AR

s1b26
dhh*7
.ecbe
P7g*>
/=?xh
nugze
Tkxp?
wh*me
99+0h
htnkf
5*pv/
d9bkf
gzdp’/
mymgz
S5vg*1l
m2=sj
g05rw
-?xdz
rwltr
Xtpxr
26m2k
0j/-r

8n, .0
euz=o
yiwh?
d?f=o
74789
c+kl1l5
p7g*l
u6qg05
tjd.u
iaw’/g
-?11r
68rs]
kxp?1l
-rug*
2kxd
8rcxb
ltroég
sjwl9
om203
ctvgi
fie-r
g05*5

no3==
dzsjw
3geym
hfkfs
ze—*]
+cbkf
tlbiw
r09nh7
68721f
dhltv
sfkfs
8rctr
Jwhh*
5d?jqg
3c+kx
a/ug*
ec+u?
lrmy4
=/-va
asjsl
0553/
*pv /-

sjmct
191n2
2k1bm
5.034
eyias
=sfkb
3-r==
a/-21
-?xdz
geukf
5+cbk
==/-r
Jieym
41jwh
dzw7k
ltxza
6872z—
prg4p
whltr
tlbiw
ukfo68
?15+g

789za
=slro
gz,+t1i
7/ukl
5zm2k
8?z-r
=0zaw
1n,+g
w/gdl
od3-v
fe8ro
g05dh
g*pv/
h?7a/
Xtt*v
w7k1?
rukl?
191*h
6giw’
Tw3uZ2
n8n, .
vsf=o0o

wh.ym
zw309
wltvg
*d9bk
feukf
ugdl?9
h.u2k
z,+iw
51b2=
ctxvu
zsjwh
ltvm?2
yP?P3
ubmym
g*vg*
xd3cb
xhj8n
tnozm
aa/qi
=/907
Ono3=
d3cb8



J random code practice,

FO

osjlqg
wlkfk
tduip
sjbtk
kfnri
Jvviqg
huxkf
ruvdc
wiytjl
dnbie
czwip
iealv
mrgos
Jjeayz
ggvsw
mtuve
hpdou
ZvJgip
1epw]
ancmt
tvvux
dhosw

icmep
shuvu
kdcme
gipld
pjpto
gouxi
pwlkf
mgqgtc
swymg
ntwjt
tohcz
nrrco
uxzgt
tcohf
jvvda
tduir
kficz
lfpyx
wlaan
dwyzo
zohks
1lfgba

bymep
xzqgte
almgb
zepyz
hanlh
pvane
icbgt
mrnjv
bzvgg
hzaym
dtthg
hcbpj
ecbp]
tbrzl
aayza
yxmec
czenk
czulp
eaaym
fwwjp
Jjdjco
ayzym

gouxk
anljb
VWWW ]
ohkgt
nnuks
nrpos
mtwjv
vfouil
bfpfm
gosww
thgth
pvcbk
rijipe
fgbyk
ayksu
osuve
fgdmg
vcbkf
rgouk
tohal
shzay
ecosw

fpyzo
vwymr
rjirs
jnecm
jgdof
hohpe
vdaay
enkfe
rnjvv
Jjuvea
ofdoh
fpfmt
npgou
atkag
icoft
cbggt
gvgir
pfohf
dzenk
xdnbi
kswyk
Jkgvw

fwwld
fbyxh
jneco
ggtcm
Xuipqg
npico
kfggo
nuagt
dcosw
louvd
lymtw
bplfn
xirji
bfpfm
brzlf
hgtje
zjral
tzbdz
dgtkg
czlgt
gvvdc
vkint

zenip
ksjbt
uipgi
rnlhn
gbaln
hcbrz
uvwip
ofohf
lykdc
coswl
WWYXV
kdsjc
ruvda
tzbfp
ensuk
ntuxb
gicmg
nepfv
ipjrh
Jlsuil
oswjm
wljbv

kfqgqg
iecbp
pgdhqg
NnsSwyz
ayztc
lfepi
kfgic
tbrxv
oswla
ayxkqg
lipgi
ouvdc
ykshqg
halvn
dshqgi
xfwyz
btkgi
ggtco
Uvuxx
ecbrx
enuks
wykdz

gdofx
Jjptoh
iczlg
ofykd
mtbrz
cmtux
mrirx
lipos
YXmgo
gglcz
ruvfo
mecbi
ienri
rreal
ephcz
Jjrane
rxviju
hftzd
ancmt
vlikfk
Jjgbyx
lgvvt

uirec
czbfp
tjlag
bzyzl
lfepi
bzvgil
v1ikfi
Jephc
SWYzZQq
ngbxf
uksji
czlgv
pjptm
gvvda
drhru
aymep
vggtc
tvvwj
ficzc
shsje
hmenr
ouicb

zwlfp
halvn
giczl
dgvwy
cohan
pldbs
cbsji
zbfnt
tealx
WW] PV
ruxtu
vdaay
twljd
ymgdm
vigic
ieals
mrlxb
pkfou
zZepyx
phczd
pgipg
qvczy

21



N random code practice,

FO =

6 (also G,

sent as

single chars)

udp7i
8rkfa
9zm07
89dbqg
wl9jo
51hbg
30n05
rkhvi
wb1lp7
ddry4
cvolh
aacdx
s3yba
zumO5
mgviw
0zZgxn
tl3eu
5v2o0l
ukf8b
s7289
tl/ct
tjoéas

22

eeewl
s307c
cviy6
20lhp
11hv4
2g0nk
f8rkf
ymgfu
ymymg
9zw51
v47sl
pt/y4
ctzgf
fukxh
51hv?2
9zm0On
kfudr
h5fo]
cbgOn
22020
z0no68
lvwno

ngigv
tzgfa
s3ecd
rkfoz
Tctlt
hbw30
ud/cv
49t51
xX5v28
9fau?
9t5zw
7s111
aslll
plhpl
bgkfa
kz2gi
4rkzg
8bgkh
gZ6as
7yolh
9tzeu
gkfu?

29g0n0
ctl9d
riyol
On6sl
S5faas
ptrgk
ozwbl
hbaau
tlpr4
bau28
5zwbz
hbcbw
x7j8bw
vwng?2
aumyb
eewno
vw3ym
bcbwl
3yog0
v4cd
49fau
glieec

5foz0
riecd
xj8r4
pngiy
Jsjol
zgdbw
hv26a
kzgvg
9t51h
bwnoés
gxjoh
lprdp
5v2g0
8bg28
aukhp
8riwb
gv2oh
prkxh
prkzg
dddry
mymy 6
v28ri

7yohp
x30pn
pngie
mgfu4
3udro6
Sviy4
cbg2g
faacv
vieec
3ukhv
basjm
11h5z
nkxj8
tlpr4
lhplv
zwSf4
pln07
pltbl
£8bg2
olnsl
slhvi
ewl9z

rkz07
689db
udro8
9t1t5
s3gx]
7slhp
07s17
drkxh
bacvi
ieecb
iy49d
gfoze
rkhv2
pltlp
gfumg
9zgdx
ieeec
3051n
0l11x3
p/y6a
eecvi
wl9dr

cbg26
aasll
bctim
fuZoz
m05fu
lvgvi
cbgiy
plhod
eecbq
gkzmi
rdre68
ukhvi
g2ojm
Tcdxp
fojmy
p7ydp
dbg2o
mgfuk
07ct]
aslh9
gfaas
iewbl

sjol3
1hv47
yolns
07ewb
4plhp
yozgd
ojoh9
rdrgk
kz26a
ymyol
rkhba
yo68ry
v49j0
t7ewn
4pTsl
1nOng
h9dbw
xhpl9
s3289
drkfa
71s30p
nslhb

ud/ec
sltlp
lp7iy
hvipl
lvgvi
x5v20
drkfu
fdp’s
ul20zg
3gxp’7/
aasj8
olnsl
11hvo
slhv2
9ddrk
2gigv
nmgfu
tl7sl
fudrid
s3kf4
nmOpt
aaud’/

voh5f
Tcdxp
myoln
f8rie
y4ict
lhp7s
47s738
1tl9z
facdd
yolhb
rkxj6
hv2o6a
zwl9t
qiw3y
hbgiy
iewn8
49ddx
Tcbaa
rkfoj
p7s19
r68bc
cbcv4



O random code practice,

FO =

note:

+ ol

dahdidididah
dahdididahdit
didididahdidah
didahdididit
didahdidahdit

zm2kf
?z-ru
ozawh
n,+gz
7gdlb
d3-vc
68roz
05dhl
*pv/,
?7a/u
tt*vg
Tkl?x
ukl?x
91*ht
giw’/a
w3u2l=
8n, .0
sf=od
2bgec
2kxd
91rie
iw7/u

eukfs
gdl9h
.u2kx
, +iwh
1b2=s
txvug
sjwhl
tvm26
p?p30
omymc
*gEV
d3cb8
h3j8ns
nozmy
a/qgia
/q07=
no3=/
3cb8?
+u2=s
Zw/g¥*
-?7a/
2=/q4

5+gz,
.ub,p
h38r-
*n2::
74.0d
VCXNS
troge
, . 0nk
5dhlt
+0j=0
ct.oh
?7p309
lfeuk
47a/,
/419
sjmg¥*

SK
AS
AR

2k11
t741+
*n2=/
/-rqg0
nugvy
1fiaw
-vgeu
b2=mz
r=/q4
zectr
.ecbe
1?215.
foh38
p?p30
1*htn
vg*z4
hp707
9xp95
j47a/
O05rwh
wltr=
687217

n, .w3
i09h7
ugvy8
5d151
47893
7kl*h
kb, p3
w34pl
.e-r=
=/q4.
u20d9
038ri
rctro
Ixp?p
kbyi0
1js5~*
eyiaw
vexd]
-?xhf
*jia/
/q472
wl9h.

-vgey
/ukl?
nwlno
bymgz
y4prq
tnkfi
-vgia
91*d9
/gb. i
iw3qge
bgvy8
ectr=
my8n6
7g*1lt
J8n6g
1.20h
h7a/-
/-rq4
kb8?v
ukl*d
kb2=s
u6895

4 .odn
xdzw'/
g05rw
, .0689
091*h
asjsb
sf-*d
bgvug
w3ubm
u6g05
rctvm
==s]q
gd4lf-
XzZe-r
4pTkx
p70n2
*d9+0
ploxt
o032kl
O9bkf=
74741
rwltv

ugzec
kxp?p
h*jeu
9+oht
tnkfi
*pv/ -
9bkf6
z4pTk
YIMg Z—
vg*l.
2=s78
O05rwl
?xdzs
wltro
tpxrc
om2kf
j/-rq
tdb,p
fo8n8
sfgz4
+mctx
m268r

+k15+
Tg*xlt
6g05r
J4.u6
aw/gd
?1llrs
8rsj8
Xp?1]j
rug*5
2kxd3
rcxba
troége
Jwlol
m203=
tvgla
ie-r0
05*5%*
3-vm2
n,+gv
p7kxt
vy8nw
o3c+o

23



J random code practice,

FO

yztcm
fepic
fgicm
brxvl
swlay
yxkqg
ipgir
uvdcm
kshgi
alvnr
shqgie
fwyzj
tkgir
gtcoh
vuxxa
cbrxa
nuksj
ykdzl
dzcbqg
suxzq
wwjuv
dhgic

24

tbrzl
mtuxb
rirxv
iposj
XmMgos
giczn
uviou
ecbic
enrip
realqg
phczd
ranea
Xvjuv
ftzdt
ncmtf
lkfks
gbyxh
gvvio
VCZYZ
tecbp

ggvsu
zlgvx

fepic
zZvgip
lkfic
ephcz
wyzgt
gbxfw
ksjir
zlgvv
Jptmt
vvday
rhruv
ymepi
ggtcm
VVWIP
iczcz
hsjep
menrp
uicbg
ldgvw
lfnip
vntfi

rgqgq

ohanj
ldbsh
bsjir
bfntw
ealxd
wjpvc
uxtui
daaym
wljdj
mgdmg
fgicm
ealsh
rlxbz
kfoui
epyxa
hczdt
qipgd
VCZYZ
WyZJp
kfgic
epwli
VVUXX

vviqgg
uxkfp
uvdcm
Jtjls
nbien
zwjpt
ealvn
rgosu
eayzt
gvsw]
tuvnt
pdouk
vgipl
epwiw
ncmtd
VVUuxz
hoswl
Jpmri
mrgou
mripj
pggdm
almen

ouxip
wlkfi
ggtcm
wymgb
twjth
ohczd
rrcoh
Xztte
cohft
vvdaa
duiry
ficzc
fpyxc
laane
wyzof
ohksj
fgbaa
cmepb
kdbgt
rijipe
rrecz
nuksh

vanen
cbgtm
rnjvv
zvggb
zaymg
tthqgt
cbpJp
cbpjr
brzlf
ayzaa
Xmeco
zenkf
zuipv
aaymr
wwjpt
djcos
yzyme
ykgvw
mrgdr
pdmgo
yzldg
shgtj

rposh
twijvv
fouie
fpfmr
OSWW]
hgtho
vcbkf
Jipen
gbykqg
yvksui
suvec
gdmgqg
cbkfp
goukd
ohalx
hzayk
cosw]
ymtt]
fbanz
hmgbx
tksux
czls]

ohpen
daayk
nkfen
njvvd
uveal
fdohl
pfmtb
pgoux
tkggb
coftb
bggth
vgirz
fohft
zenkd
dnbic
swykq
kgvwy
epfmt
swldg
hkgtj
bztcm
bvykqg

picoh
fggou
ukgto
coswl
ouvdc
ymtww
plfnk
irjir
fpfmt
rzlfe
gtjen
Jjralg
zbdzn
gtkgi
zlgtj
vvdco
kfntw
zbfpf
VWWY Z
ngqgq
tbhrxx
thzay

cbrzl
vwipk
fohft
ykdco
oswla
Wyxv1
dsjco
uvday
zbfph
nsukd
tuxbx
icmgb
epfvg
pJjrhu
lsuie
swjme
ljbvw
mtbpl
ldsho
gdmtd
xalmg
kswww



N random code practice,

FO =

7 (also G,

sent as

single chars)

05fu4
vgviy
bgiyo
1ho9dr
ecbgk
kzmiy
4r68r
khviy
207jmy
cdxpt
ojmy4
Tydpl
bgZ2oh
gfukx
Tctis
s1h9i
faasj
ewbln
prédic
actzg
28bwn
tjmyo

plhpl
ozgdx
joh9d
4rgkf
z26au
myol3
khbaa
68ryo
49701
Tewns
p7s19
n0ng?2
9dbwn
hpl9ot
7289f
rkfas
s30pn
slhba
bcvip
fasll
mgvig
Inslx

vgviy
5v2ol
rkfud
4pTsl
20zgf
gxply
asj8r
Inslh
lhvoz
lhv2qg
ddrkh
gigvi
mgfud
17s17
udrdr
3kfdp
mOptr
aud’c
1f8ri
h5z07
xp9fu
3ymiw

47ct5
hp7s3
7s38r
t19zw
acddd
olhbc
kxjba
v26as
wlotz
iw3ym
bgiyo
ewn8t
9ddx5
cbaau
kfojs
7519t
68bct
bcvip
yvapl7
cbgiy
kf8r4
17ctj

1lhbg2
On05f
khviy
51lp7y
dry49
volhv
acdxp
3ybac
um05f
gviwb
zgxp9
13euk
vZ2olh
kf8bc
7289z
1l7ctz
jbasl
17s3e
s3y6g
ojoll
r6sj8
s3ewb

gOnkh
8rkfu
mgfu4
mymgx
zwb19
47s19
t7y4a’l
tznfa
ukxhp
1hv26
zmOnk
fudr4
5foj8
bgOng
20z07
0n689
vwnoqg
eewln
OpT/cv
x7] 8bw
t7ecv
faas3

bw30p
477cvo
9t51h
5v28t
fau26
t5zwb
slllh
slllx
lhplv
gkfaa
z2qie
rkzgv
bgkhb
2bas3
yolhv
tzeud
kfu2g
g28ri
07389d
13ym0
4plf8
kzwbf

trgkz
zw51lh
baauk
lpr49
au28b
zwbzg
bcbwl
J8bwb
wng28
umyo6a
ewnos
w3ymg
cbwlp
y6q0p
477cdd
9faum
ieecv
ectbf
x3gdb
nmgxp
bgigd
0ln89

gdbwb
v2bac
zgvgf
t51hv
wnos3
xjohb
pridpl
v2g0n
bg28t
ukhpl
riwbz
v2ohp
rkxhp
rkzgf
ddryo
ymy6s
28rie
4prip
aslf8
noslp
x5fu4d
dry6s

viy4d7
bg2g0
aacv4
ieecb
ukhvi
asjmi
1lh5zg
kxj8r
lpridp
hplvg
wbHf49
In071
1t513
8bgZo
Inslp
lhvie
wl9zw
ltlpr
riv4p
n6qg26
plhot
19fau

slhpl
7sl7c
rkxhp
acvie
eecbq
y49dr
fozeu
khv2g
1tlp7
fumgt
zgdxp
eeecd
051nm
11x30
Tybaa
ecvig
19dri
4pllh
1foj6
s389z
Js3ec
mymiy
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O random code practice, FO = 7

note: = dahdidididah
/ dahdididahdit
* didididahdidah SK
+ didahdididit AS
didahdidahdit AR

4prg0 91*ht nkfia w/gdh ltvge ukfod 3-vct xvugv cxnsl fiaw7 kl*ht
nkfia sjsb5* pv/-? 1llrsf kfs5+ cbkf6 8rozs jwhlt r6ge- vgeuk b,p3-
vgias f-*d9 bkf68 rsj8r ctr== /-rgq0 5dhlt vm26, .0Onkb 2=ozw 34pl9
1*d9> gvugz 4p7kx p?ljw hh*ji eymg* pv/,p ?p305 dhltr =/g4. e-r=/
g4 .iw 3ubmy mgz-r ug*5d ?jg4l jwhh? 7a/u6 mymc+ Oj=oz ectr= /qg4d.i
w3geu 6g05v g*l.2 kxd3c +kxdz w7kxt t*vg* vg*vc t.oh. ecbeu 20d%b
gvy8r ctvm2 =sj8r cxba/ ug*lt xzaw7 kl?xd 3cb8? p3091 215.0 j8rie
ctr== =sjg0 S5rwlt roegec +u268 ?z-eu kl?xh j8nsl feukf ohj8r ctroém
y8n6gq 41f-? xdzsj wl9lr mydpr gd4pl9 1*htn ozmy4d 7a/,p ?p309 xp?p7
g*ltx ze-rw ltrom 203=/ -vawh ltrog iw7aa /gia/ g4191 *htnk byiOj
8nog4 p7kxt pxrct vgias Jsltl biw7w 3u2=/ g0j=s jmg*v g*z4l js5*1
.2ohp 70n26 m2kfi e-r05 53/uk £68n8 n,.0n 03=/- v/-*h p70je yiawh
7a/-* d9+03 /-rg0 5*5*p v/-?1 5+gvs f=o0d3 cb87?p 34pl9 xp95v cxdj/
-rgdp 19xtt db,p3 -vm26 ,+c+4 .i0n2 6gec+ u2=sl n,.0j 47a/- ?xhfk
b8?vo 32k1lf 68n8n ,+gvo 32klb mgz,. 2kxdz w7g*5 d?jg0 Srwh* jia/u
k1*d9 bkf=s fgzdp 7kxtt db87?z ,+i09 lrie- ?7a/q ieyiw ltr=/ g472k
b2=sj 4741+ mctxv y8nwl n26,t nozgi w7/u2 =/9g47 y4.u6 8?1jw 19h.u
6895r wltvm 268ro 3ctoh p3cty iasbz myd.u 6,t*z 4p309 xp?p3 091721
In8ro 3c+oh tjd.u 20hp3 ctu2= slroz sf,tp t78?2f 6,t34 .u2o0h tj8n2
682z- rukl? 15.w3 -vgia sf-?x hj8ns 53=/, +mg*1l +iwh* né6gey 4.k1lDb
mc+0j /-vas 1tlf6 ,+cbg vyd.k xzec+ ohtjd 7aas5 *prg0 91*d? vozaw
In6g0 5rwlx +ueomg db8?v ozasl b2=sf gvg*z 05r09 h.yiw h?7a/ gieu2

26



